

$$\left(\frac{a}{b} \sqrt{99 - \sqrt{97}} \right)^{\sqrt{99} + \sqrt{97}}$$

$$\left(\frac{a}{b} \right)^{(\sqrt{99} - \sqrt{97})(\sqrt{99} + \sqrt{97})}$$

$$= \left(\frac{a}{b} \right)^{\{(\sqrt{99})^2 - (\sqrt{97})^2\}}$$

$$= \left(\frac{a}{b} \right)^{\{99 - 97\}}$$

$$= \left(\frac{a}{b} \right)^{\{2\}}$$

$$= \left(\frac{a}{b} \right)^2$$

$$= \frac{a^2}{b^2}$$

$$\begin{aligned} & (x-y)(x+y) \\ &= x^2 + xy - xy - y^2 \\ &= x^2 - y^2 \end{aligned}$$

EXHIBIT "A"

DISCLOSURES BY EMPLOYEE TO EMPLOYER

ITEM 1F (if none, write NONE): NONE

ITEM 1G (if none, write NONE): NONE

ITEM 1H (if none, write NONE): NONE

ITEM 1I (if none, write NONE): NONE

ITEM 1J (if none, write NONE): NONE

ITEM 1K (if none, write NONE): NONE

